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RS AT =5
7o) A

o th3] AIZFS 13:005-E 17:0074x] U}, th3] 71 288
st 5 glsuth o, ofEle] EA gl tis] A Sl

7HA LAl A Al Farstd o 5T
— STL documentation: http://www.sgi.com/tech/stl/
— JDK documentation: http://docs.oracle.com/javase/8/docs/api/
— C++ reference: http://en.cppreference.com/w/cpp

3 AP PC? =7y
FT AlE 2 A3} go

o
=
Aolx7t EAskE wAIS 47, HIAE Aol tish &3S EobA shd F2 glo], Z

e =2l 2]H 5—1'59} ZEE L7 (standard error, stderr) AE & Zg o
o] ojd g FEE HEHE=
Huoh

o EA tt Ao AFFE PC? 9] ‘Request Clarification” 71%2 A3 FA17] vlghUt}, o] uff thg
3 =27 olgle FEo| tsiil= “No response, read problem statement carefully” 2 g2 4
Ao BT TS L

ZolFAAN L. 2270
73S “Eery ojg” & v

A7 Aol thsho]

Yes A|E3H] Heto]l ZE HAE HolEE Ao A7 b

2

| Sste] Adez IS
No - Compilation Error A|&3H4] ®t 22 a9 HAuldste =5 2/7H HAsHIZS vk

No — Run—time Error A|&3H4] Hot =2 a3;S Agsts =5 @A A7 njAAdF R FREASS

vl g,

No — Time-limit Exceeded A|&3}A @eot =2 o] AR A|7F ool £85HA] S oJughr}
AIZF Aste FNE 2] k5 U T

No - Wrong Answer A|&3}2 @t 22O 0] BH|AE dlolgof tfsl] s o] EAA] AFH
A2 EHA] k= v g,

No - Excessive OQutput A|&3}A ©@¢t =g T8 o] AUXA Be o] ZHES PAste] A E Z5H

182 g

No - Output Format Error A| &34 gt 22 730] A &8 FJA& =2 S gudyct
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ThoF of] 7px]e] hQlo & QI3 “Yes” 7} obd thE ATE do4Tid, I F o]
AsULE A& 5o Hx ZXFJN 29 FAx AR =5 AlEsHil
Format Error” & ®FO A A S A%, 9ol wpehr] “No - Wrong Answer” & &
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EDM & Fobdh= GPark-& Hh e B2 A=
F2ekar of7]s, B

= S F
T =
£ ohea 2o B PAS 1o

5, 7k gk’ 2 7R A S E 59 wkES bR gk’ & &3 EDM

AL Ak 2k oEd #He Agatel gl *% EDMe 2 Axstn Aojgiet], Aol 2eir 4
B F &5 ue AL S ol = do)y] i, FAloA AEow EDM Ao /AE e
£ 2239 Beolgety Ren), S A4 EDME de) 2e2e GParke] & ofE &
A&7
Input

A HA Sl HIAE Alo|xe] 4 T 7F Foj Kt
Zt E|AE Alo|aE Hoj2 7] 7} gle 7HAF S 9 vhE N(l N < 100) 22 A=A 74} § = I
AFARE FAE =, o 7]A A o] S8 wj7px Q] HES 3 A7 713}

BE Zpjele S o4

Output
2t Bl ~E Alo|anitt EDM ¥ 7hAte o 24 Z8slc),

[ A ] (X%}
7oy’ e, W, u’)
=
=2

ol7ic,

=]

Sample input and output

standard input standard output
3 kakakakakamansunglass
kamansunglass 5 Zuzuzuzum
zum 4 dedevsisters
devsisters 2
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Problem C. 3| £717| ([I8 7|&)

X

F7 %7171 NAY F71& o|&3te] & £ & Aotk 429 7ol @73 77,
WAL 719 22 o Fo] YA o] BAIAE HJE §15) 1

_,d
&
oft
v
ru
>
flo

o

AQe K el shesz AaAn 27 gess A2 Qoo 9 7718 A4 v Bgoz A5
77191 9148 wlE BAS MRS o 2ol T i MR oA AT ML A5t pNoR, o
o i kWA 252 olnlat) ol o, N =50]3 K =39 wle] ebes Qe ofele} 2k

s

@ -0 60 6
® ® ® ® ® ®

ORO, © @ @ @ @ @
et

ONE ONE) ® @ @ ® @ ® @ ®

N, K, A7} 32 W, BE SeEs} B & AW $79] F Qo] AT 7)o 95T FYI

23S AL,

Input

A A S0 HAE Alo|xe] 4= T7F Fo Xt

ZF HAE Aojae 3 22 FAFEY, Al Y 4+ N, K, A (3 < N < 5,000,000, 1 < K < 500,000,
1<A<SN)7FAHE g9t

Output

ZHE|AE Alojanit, BE 227t 3 F AW 7719 @ 80 Q& F7]9 Hag}t AZFe Sl 7719
o g a2 i)

Sample input and output

standard input standard output
3 35
531 5 4
532 3 2
545
Notes

Croatian Olympiad in Informatics 2010 #2

Problem C, Page 5 of 20
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Problem D. Pork barrel (2|5 7|

Z 29l HA|cHE
13

)

Winning the election was simpler than you expected: it was enough to promise to finally build a good

N

@ ==
W o 1

quality, country—wide road infrastructure, of course without crippling the budget... Your happiness did
not last long, however: it seems, that the citizens have found a way to actually hold you accountable for
your promise!

There are n major cities in your country. The Ministry of Transport has prepared a detailed map, outlining
m possible highway connections, together with their costs. The Quality Assurance Committee will not let
you build a highway cheaper than I, and the National Spendings Regulatory Committee will not let
you build a highway more expensive than h. To claim a “country—wide” network, you have to connect
(possibly indirectly) as many pairs of cities, as it is possible within these two constraints. You have to find
the cheapest way to do it, and you have to find it quickly! Of all networks that meet the constraints and
connect the most pairs of cities, compute the cost of the cheapest one.

To make things worse, both committees are heavily influenced by your angry competitors: each time you
publish your hard—prepared plan, they immediately change their rulings I and h, and you are forced to
start from scratch.

Input

The first line of input contains the number of test cases T'. The descriptions of the test cases follow:

The first line of each test case contains integers N and M (1 < N < 1,000; 0 < M < 100,000) — the
number of cities in the country, and of possible direct connections, respectively.

Each of the following M lines contains three integers X, Y, W (1 < X #Y < N; 1 < W < 1,000, 000),
denoting that the cities X and Y can be connected by a bidirectional highway at cost W. There might be
many ways to connect a single pair of cities.

The following line contains an integer Q (1 < @ < 1,000,000) — the number of rulings of the committees.
Each of the following @ lines contains two integers. The first of the lines contains the initial rulings L,
Hi, given directly. The rest of the rulings are encoded. The numbers in the jth of the lines for j > 1 are
L;+ Cj_y and Hj + Cj_1, where L; and H; are the actual rulings and C;_; is the correct answer for the
preceding rulings L;_; and H;_;.

All rulings satisfy 1 < L; < H; < 1,000, 000.

Output

For each test case, output @ lines, one for each ruling. In the jth of them, output the minimal cost C}
of building a highway network which adheres to the committees’ constraints, and creates the maximum
number of connected pairs of cities.

Problem D, Page 6 of 20
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El
El
=

Sample input and output

standard input standard output

14
13

= O, N O, O
SO, o0 WD N
g > W, W N

2
47
11 12
11 13
18 19

Notes

The actual rulings of the committees are (1,2), (1,4), (2,3), (3,5) and (4,5). The cheapest high-
way networks adhering to these rulings consist of connections {(1,2), (4,5)}, {(2,1), (1,5),(5,4), (4,3)},
{(1,2),(1,5),(3,4)} {(1,5),(5,2),(2,3), (3,4)} and {(3,2), (2,5), (1,4)}, respectively.

=4]: CERC 2014
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Problem E. 2|3 HiX| (QIF 7|E)

€ » € [)zum.com w =
279l
zZum [z )
FBALIO S | 29 0rE | 22T AH T
Ok OlAREEREA
+ [sk=2] OliE, "YgES' REILI JTHE 120EH 189
* H 2015 42C20101942 + = EE s
P - B2 + LR
. B =HomE + 0 i, LGOH T 23t i 52
+ M zum TE | oo | Amx | ARl FH O O2H T
eSoE#E cieol
1,134,000 ~ 1 =1 118650 ¥ 7.00
Hz0| 234 L
156,500 ®/ 100 98186 ~ 899 | | puppnjomesspEaackpio] | |lemmeeeeeei ]
194,500 - RED 18488 =038 e 250'
M|ig= 134l w83 .
D-day 2015,10.08
2015.09.1017:52 7}&
1% 1% 15 15
1% 1% 15 15
HE RS =) #22 ||+ - || W
M -

3 Y £U, g 921 MASe] A} Ashe Bgow
AT FAT 4+ Yrke ol = 54 F shtolth Heto]Ae ofe] AAS AGIHUA HhSt Aeld

é

ame Aske W S0 AS F4ste] A8T 5 g, F MAY solA7t drka AHgsta, 7 s o]
Ao WMEE 1LAYE M Az el 2o glrk

Aol 2E S0 A7} Hol Qe Al o379 N
Mol QAL skl s Zojel e T sk,

3 so) Ao AV A B 913le] WA o] S A HEE LY 5 A7) W, Hejolde AL
271 wjnheh ohest o] W2 E’ 8 AR E Yk HRE & AL F748 A G sl A
S A9 Ahpolch. 5, 209) A9 sl A AN A 9 274k o) Aol A9 szt 3
A}, S22} A B o) AE A7) BRG] wlRol, 784 solAe] MAH AAL BE
ST BAE ooz ek, AT ol TS ABE AolmE Aol B alsbA Ao KT R E
A4 APIE QAL AL AL S ST ok} 1A 2w g 1R, Aol B

I

=
=1 =
RE DRSS §F ol A4t HED i go] A Fxoln,
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Input

A WA Zof HAE Aol 4= T 7F Fo] AL},

Zt H|lAE Alo]29] A HA Soll= WA A<
=M1 <M<100), 71538 ‘2E A A4 9

ojozl= N &9+ & 2 3y A=W, (1 <
HSE Yepdch A <W; < M)

Output

7 Hl2E Aolzo] sl MzEe] Hage 247 @ 24 2w

4 N (1 < N <1,000,000) 3 9] A& vl %] 8 5| 0] 2] ]
34 K (1 < K <500) 7F o] Rt}
<

N) 7} FoAA W, o] i AR A WX | o] 2] 9

Sample input and output

standard input standard output

2 7

512 18

1

1

1

1

1

11 2 3

1

2

1

2

1

2

1

2

1

2

1

Notes

A AR Al thet A9 Hf F ¥ BT AAE AW o e, A dHA SAS v X g &4 A HA)
AR AT & BF AAE APetd 7 DACNAL] srEE 1, 1, 2, 1, 27} o] o] To] At BF
AAE B s ISR k= A7 7 DdACAY vlrEE 1, 2, 3,4, 571 € Aol
T AR oAl et AW vk oE] 7HA] 7R U 5 5}‘/}011’/} Al A A A5 WA e
A # o] Aol WA gt HFof] A AS BF AASEAL, of A WA f A F AR s o] Ao wiA| T A5 e
B A ge), e 72 dANA Y slge=1,1,2,2, 1, 3, 2, 1 1,2, 27} Aty

=x#]: COCI 2014/2015 #1 ZABAVA
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Problem F. Matrix Game (2|8 7|&)

Two players A and B play the following game.

1. First, a matrix M of size N « M is chosen, and filled with non—zero numbers.
2. Player A starts the game and the players play alternately.

3. In his turn, a player chooses any row which has atleast one non zero nuumber in it. In this row,
the leftmost non zero number is chosen. Let this number be K. The player subtracts any number
between 1 and K inclusive from it.

4. The game ends when all the numbers in the matrix M are 0.

5. The player who plays last wins the game.

Given N, M and the initial matrix, determine who wins the game. Assume that both players play optimally.

Input

The first line contains the number of test cases T' (T" < 1,000).

Each test case consists of 2 numbers N and M (1 < N, M < 50). There follow N lines each having M
integers. The jth number on the ith line is the number M[i][j]. The initial matrix values are between 1

and 50 inclusive. There is a blank line between consecutive test cases.

Output
Output T lines, one for each case. Output “FIRST” if player A wins, else output “SECOND”.

Sample input and output

standard input standard output

3 SECOND
2 2 FIRST
11 SECOND
11

13

211

2 2

32

32

Notes

Z %] : Codechef Snackdown

Problem F, Page 10 of 20
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Problem G. Eclipse

Input
R WA Zol HAE Ao|2e] 4 T 7k Fol At

2 Hl2E Aolat 8749 A% FE A, Ay, By By, Cr, Gy, Dy, Dy = FAE ASHCE 39t 29
HFel7t R gel Auolnl, B o9 BFe el #E, Dt 2ol B el el Hxelnh v A
F AAE AL gon, RE HEe eIk 1,000 o] stolth, 32 B MAFL 10° o) sho] 1, 5 Y]
WA 29 2 AHs B4 1077 o] o]t

Output
7zt H|~E Alojanit} 77| G A o] 7153AE &3t} 753 49 YES' E, B3 A9 NOT

Loriginal image from http://www.sciencetimes.com/articles/875/20141019/taking—a—bite—out—of—sunlight—us—expects—a—
partial—solar—eclipse.htm

]

Problem G, Page 11 of 20
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Sample input and output

standard input standard output

2 NO
-5-675656-1300 YES
2711541239

Problem G, Page 12 of 20
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of N3 P7}t

=
=

ij+1—acj (1§j§N—1)°] Hn=zr

]

A

wES] EolRg o

o

Al o] 9]
,000, 000)

=l

< 2%107) 101

vk 72

1

ik
Output

(100 < z;

WA Zofl HlAE Aol2 4 T 7} Fol Ak,

=
T

]

A

LEX o}y w24 A% z + P ms (inclusive)

Input
100<P<1
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Sample input and output

standard input

standard output

3

4 250

100 300 500 700

6 250

100 300 700 900 1100 1300
6 100

100 201 302 403 504 605

Problem H, Page 14 of 20




Alole 3] E f8l 42 2AE W72 At =2 IRol7F A A ol

ool A5 WEoizl Po] N o Sdo] FoAr), of W A7} Q) Toa ach, 2z

1 o d
o a WA S5E bAR 5714 o HEE ArielA] Faebs fojth W1 <a<b< Nolh,
=239e o] Ao By )

e 2A A o

10 N

1234561234 +9

3 Q

33 3R ¢ 5E 3R 7R o] 2

14 1A =8E 4R 71X 2] 22

6 8 oA FHE 8WHA 7R o o2
e A &9 9

3

10

9
SolsHAE Aol g8 £E& HEAE g1 Joot Y olHEH WEQlt oA 48 +EE& e
2 e}, el ol= Fou|sHA 8 dlolHE 711 A= Y] wFoll, =g e] 949 HUgS 73t
ZH WHEa At} 4] Y49 HAYEE 75T 2 eSS wl, 29 Y4 HUge dupdA
3t gt

Input

A A Zof HAE Alo]2o] = T 7t Fol At}
HAE Ao]29 A WA Sd= N, Q (1 < N,Q < 200) 7} ZWME Aolo] =11 & Fo]Ah NS
49 dol& 9uista, Q= A9 Mg o n|sie),

HAE Alojao] F HA] SHE QU9 Eofle oo A} £8& 9u|sl= A4, B,C (1 <A<B<N,
1 < C <10,000) 7} g8 Aolof] £ el 2 Fo] Atk A9} B+ Aol A2 929 & A& Yehdt]
C+ g Ao st g o vjsic},

1o, Lo

Problem I, Page 15 of 20
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Sample input and output

standard input

standard output

e e T R R OV )
o~ Nk

N

10 3
333
14 10
6 89

Problem I, Page 16 of 20




Problem J. 7710}

2319 B Slol AnZL @ el 43 Qlek Al e SRE ol 2] g5, Wl AL
27] 915) whol Eolrhir,

K

Aol A y < 091 BRL wol7] wlo] ZukAzE 2 5 gl Folth EFF kel ko] glofA] Ak
kA 2 5 ok AL Pi(ar,y) oA Py(en.yn) 79 N7RS Ao vebd 4 qlok

132, y; > 00]H 41 = yy = 0°]th, P ol A Py 7442 &4 th2 A2k, Py} P2
Ako] T}, Al kel W e Lot 4 YA, WEEE Sl 4 firh,

7 E 25 3 M — 19 o5 3th Aol Qu(X1, Y1) ol fIAI3) o, T2 & Qa(Xa, Y2),

2 Qu (X, Yu) E st a5 Wt 7= %E'—OP ] Wl Qi oA Qiv1 & ©lF
S o) o] YR A YR g o] F8kA] koA ATt b BS AR o5t &% % 7 vt
o] 53t Al GupdA FI= =2 WS 2 st

()
e A R

=2,

ki

e &8

-

Input

A AR Zoll HIAE Ao]|xe] 4= T 7 FolXt,

7t EH|2~E Aol witk A WA ZoflE N3 < N < 2x10°) o] FoJAth, thg N7 &9 i iR Eoll&
AL ZFE 2y, (108 <2 <108, 0 < g < 10%) 7F 39 shpE FREo] Fo)Ath o < 2,411 < i < N)
Sty =yny =02 W5

THS Zols M(2 < M < 2%10°) o] FoJZth tha M 719 29 i ¥iR] Zo& X, Vi(—10% < X; < 108,
0<Y; <1097 39 st FR= o) FoIRTh (X,,Y5) 7k 2k ofelell A3 e A9+ ek
Output

ZF 2 E Alolaujt} 7hupq) 7} 0] 5 3k & o5 A g E &3t Ao/ A 2471107 o] &k<l A A
o7 oAHTL},
Sample input and output

standard input standard output
14.307135789365

0 O P W N = O 00 =
» O O N W N O

10 0

01
50
9 2

Notes

Problem ], Page 17 of 20
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Problem K. Forest (2|5 7|&)

The government is planing to build a walkway for tourists in the middle of an oak forest. The forest can
be represented as plane with N special lattice points representing oaks.

The walkway is represented as a rectangle with sides parallel to the axes. If the sides of walkway rectangle
intersect any oak lattice points, such oaks need to be axed down. Oaks inside the rectangle do not represent
problems and need not be cut down.

Bryan is the state secretary of Forestry and an passionate nature lover, so he ordered the secretary of
Tourism to provide him with a list of P possible rectangle walkways that are attractive enough to draw in
tourists.

Bryan plans to select the walkway that needs the smallest amount of oak trees to be cut down. Since we
also like trees, would you be so kind and write a program that will determine the number of oaks that
will be cut down for each walkway. Remember only the oaks intersecting the sides of the rectangle need
to be cut.

Input

The first line of input contains one integer N (1 < N < 300,000), number of oaks.

The next N lines contain two integers X and Y (1 < X,Y < 10%) representing coordinates of oaks. There
will be at most one oak on each lattice point.

The next line contains one integer P (1 < P < 100, 000), number of walkways.
The next P lines contain four integers X1, Y7, X, and Y2(1 < X; < X5 < 10°,1 < Y] < Y5 < 109

representing coordinates of the lower left (X1, Y1) and upper right (X», Ys) corner of the rectangle.

Output

Output P integers, one per line, the number of oaks that need to be cut down for each walkway in the
order they are presented in the input.

Sample input and output

standard input standard output

= O b W

W W NN

4 4
6 5
56
6 6

a W N N P> OO P NN WO

=W NN

Problem K, Page 19 of 20
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